:1"PRO
EIRBAE
SyoII> heR
=s WV-QRM101

CDIEE, BHOEBEREVNLITWEESE, £CTECHDMNESTTVET,
O HUNERIAZ ZE LK< BHADDIX. EULKTEICHHENIZEEU,

O CfEMARIC [Z2 LDTER] 2T HmH<TIESN,

© CDEUNGRBAZ(IAIICREL TS EEL,

b 7= XD -
O FUkEiIEZE KL< BFHADDX. IELL O AE B (IFHN VB EIEEMDH DIBFAT
TECHBBENIZE0N, DERICITBELUTOEFA.
OB (CHERNUDPZDEN DI R E
DIERICDVTIIARZEDZ LI N SR
LTLIEE0,

iy ARE - — S a

B2 LEDTER (BITBFOEEV )

ANDEE, MEDBERBIET B/, BFETFONCREL TEEHBELTOET,
RS ENSEUEEFCELZBELESOREEEA LT, HBELTLET,
BECrEEEESHT [EEaE>C v, i
gL hsawal T, A SR momEimETssT
= SN nhBEIRE] T,

EBTFOVWEE<ABRTZRDOEESTHRALTWEY., (RIIRESDOHITY)
® UTIEWIRVVABTY, o EITURIINERBIRVARETY,

a4
= =

® m SHOEILUSMIED [T

(BT ICLBIINOEHMDIRERRAEIRDET )
ik IEECEREHADRET BIERICEHE LR
(BIEPAYSE L. BT ICKBDITHPOERORERR E/RDFET )

B TE(IARSEE(CKIAT S
(TSI EREBENME T, NKE RE. (TH RVIBIEDRRE &7
Nn¥EY.,)
=T BERFEIE(CKFAL T<IZE0Y,
B EHINICSIRT B
(BEDRUNMATUDE, BTFICKBITHPERORRERDET.)
=Smtkld. IRFEECHREL TS,

NiE=

BEBEROIY STFZ2II S5
(B ZFTBDETHDIRAERDET )

FiE

AEREEADIRE. BROMTIRROIRRPECEHEINE RLLOTER] &HD
BTHERHSIES L

A=
AL BITEODRY hD—0F7 4 AL - —PITYy XM —ZHDSYIRYI> b
&8 (KNEUME) TT.

WO A

BOfFIAE. HROFBEOEWNGIAE REREDGH<IEZU,

HEm

L2 = I = == 11

SwoT I FEEEHTRL (M3X10) v, 6K

n ]

o~k SwOYI> MR (KX) 18110 mm X 44 mm x B{7Z97.5 mm
SwOII> MEE () 1830 mm X 44 mm x BIT=97.5 mm

0E= 161 g (K). 95g ()\)

oftblF InREIEEHR BEX

EURERBAE [CERE SN TULVRVWITIEYD, BEDES@EERURVBETHRISNZZ &S
KOBHEENECZES(CE HHTREEZERFEA. Fo. TOMINRERET
HENECTIEE(E. BeREIOMRIERDFT,

i-PROZMmD [HBEWEDE] (CDWTE. ATt/ R— DT I+ bz
slRLTIZEL,
https://i-pro.com/jp/ja/support_portal

I-PRORII=#E

https://www.i-pro.com/

Printed in China
Imprimé en Chine
Gedruckt in China
Stampato in Cina

‘ Impreso en China

*PGQW24967ZA*

ts1222-0  [IFINVARHTINAIN

© i-PRO Co., Ltd. 2022




Operating Instructions
Rack Mount Bracket

Model No. WV‘Q RM 1 01

Before attempting to connect or operate this product, please read these instructions carefully
and save this manual for future use.

WV-QRM101 is the rack mount bracket (1 large and 1 small) for network disk recorder.

H Installation

Refer to the Installation Guide of the recorder how to attach to the recorder.

H Standard Accessories

Operating INStUCHONS ....iiiviieiiieee e 1 pc.
Rack mount bracket fixing screws (M3 x 10).....veeeeiiiiiiiieeiiiiiiieeeenns 6 pcs.
M Specifications

Dimensions: Rack mount bracket(Large) 110 mm (W) x 44 mm (H) x 97.5 mm (D)
{4-11/32 inches (W) x 1-23/32 inches (H) x 3-27/32 inches (D)}
Rack mount bracket(Small) 30 mm (W) x 44 mm (H) x 97.5 mm (D)
{1-3/16 inches (W) x 1-23/32 inches (H) x 3-27/32 inches (D)}

Mass: 161 g {0.35 Ibs} (Large), 95 g {0.20 Ibs} (Small)
Finish: Black coating, cold rolling steel plate
<Francgais>

Nous vous recommandons de lire attentivement ces instructions avant de raccorder ou d'utiliser

cet appareil et de conserver précieusement ce manuel a des fins de consultation ultérieure.

WV-QRM101 est I'équerre de fixation en rack (1 grand et 1 petit) pour I'enregistreur numérique

réseau.

H Installation

Reportez-vous au Guide d'installation de I'enregistreur sur la fagon d'attacher a I'enregistreur.

B Accessoires standard

Manuel d"UtiliSation ...........oeiiiiiie e 16l

Vis de fixation d'équerre de fixation en rack (M3 x 10)........cceeevennne. 6 él.

H Caractéristiques techniques

Dimensions : Support de montage en rack (grand) 110 mm (L) x 44 mm (H) x 97,5 mm (P)
{4-11/32 pouces (L) x 1-23/32 pouces (H) x 3-27/32 pouces (P)}
Support de montage en rack (petit) 30 mm (L) x 44 mm (H) x 97,5 mm (P)
{1-3/16 pouces (L) x 1-23/32 pouces (H) x 3-27/32 pouces (P)}

Masse : 161 g {0,35 Ibs} (frand), 95 g {0,20 Ibs} (petit)

Finition : Revétement noir, plaque d'acier a laminage a froid

<Deutsch>

Bitte lesen Sie diese Bedienungsanleitung vor dem AnschlieBen und der Inbetriebnahme dieses
Produkts aufmerksam durch und halten Sie sie jederzeit griffoereit.

WV-QRM101 ist die Rackhalterung (1 gro3 und 1 klein) fir Netzwerk-Diskrekorder.

H Installation
Weitere Informationen finden Sie im Installationshandbuch des Recorders.

H Standardzubehor
BedienungSanieitung .. ......oooiereiiiieeii e 1 St
Befestigungsschrauben flr Rackhalterung (M3 x 10) ......coovviviiieeiins 6 St.

H Technische Daten
Abmessungen: Rack-Montagehalterung (groB) 110 mm (B) x 44 mm (H) x 97,5 mm (T)
Rack-Montagehalterung (klein) 30 mm (B) x 44 mm (H) x 97,5 mm (T)

Masse: 161 g (groB), 95 g (klein)
Lackierung: Schwarze Beschichtung, kaltgewalzte Stahlplatte
<Italiano>

Prima di tentare di collegare o utilizzare questo prodotto, si prega di leggere attentamente
queste istruzioni e di conservare questo manuale per usi futuri.

WV-QRM101 ¢ staffa di montaggio a rack (1 grande e 1 piccolo) per registratore su disco di
rete.

H Installazione

Far riferimento alla Guida all'installazione del registratore su come collegare al registratore.
M Accessori standard

Manuale di iSTTUZIONT ......coiieiiiiiiici e 1 pz.
Viti di fissaggio della staffa di montaggio a rack (M3 x 10) ................ 6 pz.
M Dati tecnici

Dimensioni: Staffa di montaggio su rack (grande) 110 mm (L) x 44 mm (A) x 97,5 mm (P)
Staffa di montaggio su rack (piccola) 30 mm (L) x 44 mm (A) x 97,5 mm (P)

Massa: 161 g (grande), 95 g (piccolo)

Finitura: Rivestimento nero, piastra in acciaio laminata a freddo

<Espaiol>
Antes de conectar o utilizar este producto, lea atentamente estas instrucciones y guarde este
manual para poder consultarlo en el futuro.

WV-QRM101 es el soporte de montaje en bastidor (1 grande y 1 pequefio) para grabadora de
discos de red.

M Instalacion
Consulte la Guia de instalacion de la grabadora para adjuntarla a la grabadora.

M Accesorios estandar
Manual de INSTTUCCIONES ......coiiiiiiii e 1 ejemplar
Tornillos de fijacion de la soporte de ménsula de montaje en bastidor (M3 x 10) .... 6 piezas

M Especificaciones

Dimensiones: Soporte de montaje en rack (grande) 110 mm (An) x 44 mm (Al) x 97,5 mm (Prf)
Soporte de montaje en bastidor (pequefio) 30 mm (An) x 44 mm (Al) x 97,5 mm (Prf)

Masa: 161 g (grande), 95 g (pequeno)

Acabado: Revestimiento negro, placa de acero laminado en frio

For U.S. and Canada:

i-PRO Americas Inc.

For Europe and other countries:
i-PRO EMEA B.V.

https://www.i-pro.com/



